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SRR VAR 100mLx1 3, 4°CHRAF .

A W 20mLx1 i, 4°CHREGARLE .
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1. WUAREAS: EHENE, #57%mh 8000g, 4°C, B0 16min, B EIE, 1R NFERMEES .

2. FETHY: ML 0. Img, MNZEPMPE ImL, SB35V MRAFI,

3. HEFEAR: HIBASRE (g REVBAR (ML) 1: 5~10 BIHf] CRIIRELZ 0.1g
M, AN ImL et AT A1, SRJE 8000g, 4°C, E5.0» 10min, HU ERiHFAE
b

4. PSSR AR EE . AR R AT I B B0 N, B0 E T IE s IR R 500 54N Bk
UMM 1mL $2H0GH 78 70 &) % A JF 2R A i (Th2E 20%, 7 3S b, [Alk& 10S,
EH 30 %); 8000g, 4°CE.0r 10min, B EE, BEUK BRI,
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L. AR RNE F) it
B E X 50°C, pH4.8 264 F, SFZ=IHBARFEATE /B0 0 i AR ZERE £ 1nmol & J5RE it
5 RV B D — AN R TH A SR I (14035 70 B A5 o
ACX 757 (nmol/min/mL) = (AA+0.002) +2.5554+150=TxHi ke (&% x 106
= 435x (AA+0.002)

2. HRE AW
B E X 50°C, pH4.8 %A F, M= E ARS8 A4 Inmol &5 HE T 75 1)
TN MR YA SN S T AT
ACX %77 (nmol/min/mg prot) = (AA+0.002) +2.5554+150=TxFiBA5%rx10° ~Cpr

=435%(AA +0.002 ) ~Cpr
3. R E T
S € S 50°C, pH4.8 6T, fsuEAEE S b 7 A SEHE P22 1nmol 38 0% BT 5 1)
B O MRV SEWERG IS T A
ACX 7577 (nmol/min/g £ ) = (AA+0.002) +2.5554+150-Tx ke {5 4rx106 +W

= 435%(AA +0.002 ) ~W
4. HHNE. MPABITE
BiE € SL: 50°C, pH4.8 26N, B 1 AW 0B 0 A SRS 4: Inmol &)
PEFT T IR N — AR YEA SENEBG I3 71 507
ACX 757 (nmol/10% cell) = (AA+0.002) +2.5554+150+=TxHFe {54106 +500

=0.87x(AA +0.002)
150: ARHERI 7375 T: RIS E, 30min: B H=V RE+V FE=300uL+60uL=5; 106:
AT, B 1mg/mL=106ng/mL; Cpr: FEAEEWE, mg/mL; W: FEAFIE, g 500:
Y1 A BN B 500 T3
L. W BEAR AL AZ A HILE 0.01~0.8 2 [0], 3 M ANRHE S E BB i, ERIFEA RS
55T BRI W 35 BB AH S DR
2. W& 2-8°CIRTE, RT3 NH, BUUIE.
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